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1. A machine applies a constant force F= 3l + 2] + 5k (N) on a 4.00 kg box. The box is carried

from an initial position of dil = 1l + 2] - 2k (m)to a final position of dz = 6i — 3j — 2k (m)
in 12.0 s. Find the average power of the machine’s force on the box in this time interval of 12.0 s.
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2. A single force acts on a 2.0 kg object whose position is given by x = 4 — 5t + 2t3, with x in
meters and t in seconds. Find the average of work done by this force from t = Is to t = 3s.
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1. An elevator is designed to carry a load of 20.0x 103 N from the ground to a height of 87.5 m
in a time of 18.0 seconds. What is the average power that must be supplied by the motor of
the elevator to lift this load?

\/{ il 74 \I,‘, o) {9’07((05\\1

Vo
Widor = — Wﬂ = Fa - (—-W\%d):(‘m%?i
2ol 515 = LFSxI0T
. o ¢ S
P Wit 11510 :\q,?gm
™9 Ak 1R _

2. A certain force F acting on a body of mass m = 3.0 kg and changes its velocity from an initial
value 7, = 6i — 2j (m/s) to a final value vy = 8i + 4j (m/s). Calculate the work done by the

force F.
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1. A’boy/run up from the 1% floor to the 2" floor using the stairs in 12 s. The stairs are made up
30 stairs, each 10 cm heigh. Calculate the average power requried by the boy.
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2. A 10 kg box slides with a constant speed a distance of 5.0 m downward along a rough slope
that makes an angle 6 with the horizontal (see the figure). If the work done by the force of

gravity is 360 J, what is the angle ©.




